
Fourth Semester B.E. Degree Examinq@S Dec.2024/Jan.2025
Desisn and Analys1."S$lsorithm

Time:3hrs. j} oMax.Marks:

Note: Answer any FIW full questions,r$t; oNE full oornroo@nch modute.
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Define Algorithrn Explain as

with example.
Explain general plan of ma

*f "ffiqf sv *&
5a.3*:f-.*w.ptofgreedyf[-mit.uKruskal,sa1gorithmtofind**,Tril"''::l

spanning NL- 2 (l0lvtarks)

b. Solve the Mwing single soupe-shortest path problem assuming vertex 'l' as the source.
(10 Marks)
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Construct a tree

Char A B C D E

Probability 0.5 0.3s 0.5 0.1 0.4 0.2

Encode the ttrxt DAD. Decode the text

z+lu.4 l Y .i\

wffi'&rcode is 1100110110n*h (10 Marks)
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b. Write -tttrj.tffi algorithmto rorwffiactr (O8Marks)

(10 Marks)8 a. Write undmhttn* for Bellman-Ford apofithm'
ing instance of ffifaOS6-ck problem using$ynamic programming. Knapsack

^ry ;W (loMarks)
b. Solveffiffitllowmg mstance oI h#msacK 
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g a. Explain backtrackingffi"a. rUrrt?" fis problem H5g$acktracking 
method' And

also write anothessJ$tion. *:&}* *W (l0Marks)

h Snlrre srrhser srrffiihlem for the folb#iriE example, 5 +{81'5,6,7\ and d: 15. Construct
also write anothensoltrtion. ' :? ixq* (ru lYrarKsl

b. Solve subset r.,ffioUt.m for the folffiflifr example, S *r-si'5,6,7\ and d: l5' Construct

a state space @" S= 
(lo lvlarks)

^'d {a- oR .tr*tn 
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b. with the W or a state space t[e, solve following instance of the knapsack problem the

FIFO branchand boundffiod. The knapsack capacity is 15'
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